8 7 6 | 5 | 4 3 2 1
Entry Hole -
o Q o
Q P «
9 H T
> ~ o
< @ > N P. % -
© o o
T N_UNC 4#40 N UNC 2456
E
Jackscrew — Shell — e PART NO.: I
% / ——— %5% BO3—050N11NX—X1
< T
g - THREADS FINISHES:
4 = 5 i 1 7: jackscrews M2.6 D
% a1 e o 8: jackscrews #2-56
Q14 + ‘ ;
oo ) o 0 9: jackscrews #4—-40
T g ot ENTRY HOLE SIZES: ]
] 9:9.0
} 46.50+0.20
51.90+0.30 } d ! A105
13.00+0.20 ‘
C
5 ==
= o ||
A :
2 3
0 = = 0O & 2
d [ = = Op = 4 | INNER SHELL | STEEL PLATING: Ni
5 SCREWS STEEL PLATING: Ni B
1050 39 3040.20 2 [SCREWS HOOD| PVvC(30P) COLOR: BLACK
1 HOCD ABS UL94V-0 COLOR: BLACK
ITEM DESC. MATERIAL REMAKS PART REMAKS ||
SCSI 50P MALEYfi ke 4k 7etR 22 50
/A QUALITY SYMBOLS Toleance NAME: - (‘éﬁ)ﬂl&]) PART NO.| BO3—-050NTINX=X1
A O. X X. +0.80 | REV: A | UNIT: mm DRW BY | CHK BY | APP BY |DRAWING NO.
X +0.50 B03-074
CRIICAL  MAJOR 4N :
PN —— King Zhou § 0 3o | SCALE:| N:1|DATE: | 2010/04/12 [JACK CHEN | DEAN FAN . A
NN % . e L b = http://www.lineconn.com
SIDE | DATE DESCRIPTION APPROVER ZERO DEFECT S.P.C %* % lineconn RZETHRIRAIAREE FHIRAF TEL:0769-85181660 85181770
8 | 7 6 5 | 4 | 3 | 2 | 1



AutoCAD SHX Text
2010/04/12

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
3

AutoCAD SHX Text
B03-074

AutoCAD SHX Text
B03-050N11NX-X1

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
:

AutoCAD SHX Text
:

AutoCAD SHX Text
C

AutoCAD SHX Text
Z

AutoCAD SHX Text
ZERO DEFECT

AutoCAD SHX Text
S.P.C

AutoCAD SHX Text
QUALITY SYMBOLS

AutoCAD SHX Text
CRITICAL

AutoCAD SHX Text
:

AutoCAD SHX Text
MAJOR

AutoCAD SHX Text
:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
UNIT:

AutoCAD SHX Text
±0.500.50

AutoCAD SHX Text
±0.800.80

AutoCAD SHX Text
Toleance

AutoCAD SHX Text
.xx

AutoCAD SHX Text
.x

AutoCAD SHX Text
x.

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
NAME:

AutoCAD SHX Text
±0.30

AutoCAD SHX Text
REV:

AutoCAD SHX Text
N:1

AutoCAD SHX Text
A

AutoCAD SHX Text
CHK BY

AutoCAD SHX Text
APP BY

AutoCAD SHX Text
DRW BY

AutoCAD SHX Text
2010/04/12

AutoCAD SHX Text
mm

AutoCAD SHX Text
JACK CHEN

AutoCAD SHX Text
DEAN FAN

AutoCAD SHX Text
SIDE

AutoCAD SHX Text
DATE

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
APPROVER

AutoCAD SHX Text
http://www.lineconn.com

AutoCAD SHX Text
TEL:0769-85181660 85181770

AutoCAD SHX Text
DESC.

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
PART REMAKS

AutoCAD SHX Text
REMAKS

AutoCAD SHX Text
HOOD

AutoCAD SHX Text
1

AutoCAD SHX Text
ABS UL94V-0

AutoCAD SHX Text
COLOR:BLACK

AutoCAD SHX Text
2

AutoCAD SHX Text
SCREWS

AutoCAD SHX Text
3

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
PLATING:Ni

AutoCAD SHX Text
INNER SHELL

AutoCAD SHX Text
4

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
PLATING:Ni

AutoCAD SHX Text
SCREWS HOOD

AutoCAD SHX Text
PVC(30P)

AutoCAD SHX Text
COLOR:BLACK

AutoCAD SHX Text
PART NO.:

AutoCAD SHX Text
B03-050N11NX-X1

AutoCAD SHX Text
ENTRY HOLE SIZES:

AutoCAD SHX Text
A:10.5

AutoCAD SHX Text
9:9.0

AutoCAD SHX Text
THREADS FINISHES:

AutoCAD SHX Text
8: jackscrews #2-56

AutoCAD SHX Text
7: jackscrews M2.6

AutoCAD SHX Text
9: jackscrews #4-40


